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Consider the following!

Pertorm the mdicated operations given
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We already now that the complex conjugate of a complex number "a + bi" is
equal to "a - bi"

We can also say that for any complex number "z'" the complex conjugate is
equaltoz <> tneans C ow\e\ex Con's

If z=2 + 51, calculate\ Z = -5t
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The Argand Plane / Comp‘ex Plane

Complex numbers can be represented geometrically in the complex plane,
often called the Argand plane after Jean R. Argand who gave the

representation in 1806. ? {o’{* (o\) \Oﬁ

The complex nurnber‘3 + 21 iis <5> a\>

represented by the directed line segment,
or vector, from the origin to the point (3,
2). The horizontal axis is the real axis,
and the vertical axis is the imaginary

Imaginary Axis
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axis. Real numbers, such as 5 are writter®
in the form|5 + Oi\and are represented by
points on the real axis. Pure imaginar
numbers such as 31, are writte@}émd
are represented by points on the imaginary
axis
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Graph the following: Im
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Modulus

The modulus is the absolute value of any complex number "z". It

is defined as the distance between the origin and the point "z" on
the Argand Plane. It can be written as _.| ,,.|

2 2
Calculating the "modulus" ‘Z ‘ = \/ a +b

Ex.
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